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1. [kjirokj fu;U=.k dh ;kaf=d fof/k ugha gS % 
 

1. ................. is not mechanical method of 

weed control. 

(A) Qly pØ  (A) Crop rotation 

(B) iyokj  (B)  Mulching  

(C) xqM+kbZ  (C)  Hoeing  

(D) [ksr dh yokbZ  (D)  Mowing  

2. dsapqvk nSfud Hkkstu lkexzh vius ‘kjhj ls  

-------------------
 xquk vf/kd otu rd [kkrk gSA 

 
2. Earthworm daily feed material ............. 

times more than its own body weight. 

(A) 1-2  (A) 1-2 

(B)  4-5  (B)  4-5 

(C)  8-9  (C)  8-9 

(D)  10-11  (D)  10-11 

3. tSfod [ksrh dk eq[; mís’; gS % 
 

3. The main objective of organic farming  

is : 

(A) fuEu xq.koŸkk okys [kk| mRiknu  (A) Low quality food production 

(B) jklk;fud moZjdksa dk iz;ksx  (B)  Use of chemical fertilizer  

(C) feêh dh moZjrk dks cuk, j[kuk o 

c<+kuk 

 (C)  Maintain and increase soil fertility  

(D) iznw”k.k c<+kuk  (D)  Increasing pollution  

4. tSfod [ksrh vkUnksyu o”kZ 
------------------

 esa izkjEHk 

gqvkA 

 
4. Organic farming movement began in the 

year : 

(A) 1930  (A) 1930 

(B)  1950  (B)  1950 

(C)  1970  (C)  1970 

(D)  1990  (D)  1990 
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5. ‘khjs esa ik;k tkrk gS % 
 

5. Molasses contains : 

(A) 3% ukbVªkstu rFkk 3-5% iksVk’k  (A) 3% N and 3-5% K2O  

(B) 1% ukbVªkstu rFkk 2% iksVk’k  (B)  1% N and 2% K2O 

(C) 0.5% ukbVªkstu rFkk 1% iksVk’k  (C)  0.5% N and 1% K2O 

(D) 5.0% ukbVªkstu rFkk 7.0% iksVk’k  (D)  5.0% N and 7.0% K2O 

6. i’kqvksa ds ew= vkSj ey ls ;qDr /kkjkizokg esa 

v/kZ rjy inkFkZ dks dgrs gSa % 

 
6. Semiliquid effluent from livestock, 

consisting of urine and faeces is called : 

(A) Lyt  (A) Sludge  

(B) Lyjh  (B)  Slurry  

(C) lhost  (C)  Sewage 

(D) mi;qZDr lHkh  (D)  All of the above  

7. ikWYVªh [kkn esa ik;k tkrk gS % 
 

7. Poultry manure contains : 

(A) 2.0% ukbVªkstu] 3.0% QkWLQksjl rFkk 

1.2% iksVk’k 

 (A) 2.0% N, 3.0% P2O5 and 1.2% K2O 

(B) 3.0% ukbVªkstu] 2.0% QkWLQksjl rFkk 

2.0% iksVk’k 

 (B)  3.0% N, 2.0% P2O5  and 2.0% K2O 

(C) 3.8% ukbVªkstu] 3.5% QkWLQksjl rFkk 

1.7% iksVk’k 

 (C)  3.8% N, 3.5% P2O5  and 1.7% K2O 

(D) 4.5% ukbVªkstu] 4.0% QkWLQksjl rFkk 

3.0% iksVk’k 

 (D)  4.5% N, 4.0% P2O5  and 3.0% K2O 
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8. buesa ls ,d gYdh dkcZfud [kkn ugha gS % 
 

8. Which of the following is not a light 

organic manure ? 

(A) vj.Mh dh [kyh  (A) Castor oil cake 

(B) uhe dh [kyh  (B)  Neem oil cake 

(C) eqxhZ chV [kkn  (C)  Poultry manure  

(D) vylh dh [kyh  (D)  Linseed oil cake 

9. lkbukscSDVhfj;k dgykrs gSa % 
 

9. Cynobacteria are called : 

(A) uhy gfjr ‘kSoky  (A) Blue green algae  

(B) dod  (B)  Fungus  

(C) ukbVªkstu fLFkjhdj.k thok.kq  (C)  Nitrogen fixing bacteria  

(D) QkWLQksjl ?kksyd thok.kq  (D)  Phosphorus solubilizing bacteria  

10. ekbdksjkbtk dk iz;ksx fdl Qly esa fd;k 

tkrk gS \ 

 
10. Mycorrhizae is used in which crops ? 

(A) lHkh Qlyksa esa   (A) All crops 

(B) nyguh ,oa Qy o`{kksa esa   (B)  Pulses and fruits plants 

(C) dsoy /kku dh Qly eas   (C)  Paddy crop only 

(D) xUuk esa   (D)  Sugarcane  

11. buesa ls QkWLQksjl ?kksyd thok.kq  

gS % 

 
11. Which is phosphorus solubilizing bacteria ? 

(A) ,tksVkscSDVj  (A) Azotobacter 

(B) L;wMkseksukl LVªsVk  (B)  Pseudomonas strata 

(C) cSflyl ikyhfeDtk   (C)  Bacillus polymixa 

(D) nksuksa ¼c½ rFkk ¼l½   (D)  Both (B) and (C) 
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12. oehZdEiksLV cukus ds fy, mi;qDr dssapq, dk 

oxZ gS % 

 
12. The class of earthworms suitable for 

making vermicompost is : 

(A) ,susfld  (A) Anecic 

(B) ,.MkstSfud  (B)  Endogenic  

(C) ,ihtsbd  (C)  Epigeic 

(D) QkbVksQsxl  (D)  Phytophagous 

13. vukt] frygu ,oa lfCt;ksa dh Qly ds fy, 

oehZdEiksLV dh vuq’kaflr ek=k gS % 

 
13. The recommended dose of vermicompost 

for cereal, oilseeds and vegetables crops 

is : 

(A) 0.5-0.6 Vu@gS-  (A) 0.5-0.6 tons/ha 

(B) 0.8-1.0 Vu@gS-  (B) 0.8-1.0 tons/ha 

(C) 1.2-1.5 Vu@gS-  (C) 1.2-1.5 tons/ha 

(D) 1.5-2.5 Vu@gS-  (D) 1.5-2.5 tons/ha 

14. vukt dh Qly ds fy, ukbVªkstu fLFkjhdj.k 

thok.kq gS % 

 
14. Nitrogen fixing bacteria for cereal crop  

is : 

(A) ,tksVkscSDVj  (A) Azotobacter 

(B) ,tksLihjhye  (B)  Azospirillum 

(C) cSflyl iztkfr  (C)  Bacillus spp 

(D) ukWLVkWd  (D)  Nostoc 

15. fuEufyf[kr esa ls dkSu tSo‘kkduk’kh gS \ 
 

15. Which of the following is a bioherbicide ? 

(A) fMokbu  (A) Devine 

(B) dksysxks  (B)  Collego 

(C) ck;ksiksysfjl  (C)  Biopolaris 

(D) mi;qZDr lHkh  (D)  All of the above  
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16. [ksrh dh vk/kqfudre iz.kkyh ftleas [ksrh dh 

ykxrksa esa jlk;uksa dk iw.kZ cfg”dkj fd;k 

tkrk gS mls 
---------------------

 dgrs gSaA 

 
16. The modern system of farming in which 

chemicals are completely boycotted in the 

cost of farming is called ............... . 

(A) tSfod [ksrh  (A) Organic farming  

(B) vdkcZfud [ksrh  (B)  Inorganic farming  

(C) tSo [ksrh  (C)  Biofarming  

(D) mi;qZDr lHkh  (D)  All of the above 

17. IFOAM dk iwjk uke gS % 
 

17. Full form of IFOAM is : 

(A) bafM;u QsMjs’ku vkWQ ,xzhdYpj ewoesaV  (A) Indian Federation of Agriculture 

Movement 

(B) bafM;u QsMjs’ku vkWQ ,xzhdYpj 

ekdsZfVax 

 (B)  Indian Federation of Agriculture 

Marketing  

(C) baVjus’kuy QsMjs’ku vkWQ vkWxsZfud 

,xzhdYpj ewoesaV 

 (C)  International Federation of Organic 

Agriculture Movement  

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

18. tSfod [ksrh ds izeq[k ?kVd gSa % 
 

18. Major components of organic farming  

are : 

(A) dkcZfud [kknsa   (A) Organic manure  

(B) tSo moZjd  (B)  Biofertilizer  

(C) okuLifrd vof’k”V inkFkZ  (C)  Vegetative waste material  

(D) mi;qZDr lHkh  (D)  All of the above 
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19. tSfod [ksrh ds vUrxZr tSo moZjd vkSj tSo 

dhVuk’kd bdkbZ ds fy, iw¡thxr lfClMh D;k 

gS \ 

 
19. Under organic farming what is the capital 

subsidy for biofertilizer and biopesticide 

unit ? 

(A) 10%  (A) 10% 

(B)  25%  (B)  25% 

(C)  35%  (C)  35% 

(D)  50%  (D)  50% 

20. uhph Hkwfe okys /kku ds [ksr ds fy, mi;qDr 

gjh [kkn dh Qly gS % 

 
20. Green manuring crops suitable for low 

land rice field is  : 

(A) t;Urh  (A) Sesbania sesban  

(B) <Sapk  (B)  Sesbania aculeata 

(C) lslcsfu;k Lisflvkslk  (C)  Sesbania speciosa 

(D) [kslkjh  (D)  Lathyrus sativus 

21. Vªkbdksxzkek dk iz;ksx vf/kdrj 
-------------------

 

fu;af=r djus ds fy, fd;k tkrk gSA  

 
21. Trichogramma is used mostly to control : 

(A) pkoy dk ruk Nsnd  (A) Rice stem borer  

(B) puk Qyh Nsnd  (B)  Gram pod borer  

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

22. Hkkjrh; e`nkvksa eas vkSlru 
--------------------

 ukbVªkstu 

ik;k tkrk gSA 

 
22. In Indian soil average nitrogen content is 

about : 

(A) 0.01—0.03%  (A) 0.01—0.03% 

(B)  0.03—0.07%  (B)  0.03—0.07% 

(C)  0.07—1.5%  (C)  0.07—1.5% 

(D) 1.5% ls vf/kd  (D)  > 1.5% 
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23. vf/kdrj ikS/k iks”kd rRo e`nk eas 
-----------------

 fØ;k 

}kjk u”V gks tkrs gSaA  

 
23. Most of the plant nutrients are destroyed 

by ............... in the soil. 

(A) fu{kkyu  (A) Leaching  

(B) vUr%lj.k  (B)  Percolation  

(C) fjlko  (C)  Seepage 

(D) ty lap;  (D)  Surface storage 

24. dssapq, }kjk NksM+s x, rjy vif’k”V inkFkZ dks 

dgrs gSa % 

 
24. The liquid waste material released by 

earth worms is called : 

(A) oehZdEiksLV  (A) Vermicompost 

(B) oehZok’k  (B)  Vermivash 

(C) oehZdYpj  (C)  Vermiculture 

(D) mi;qZDr lHkh  (D)  All of the above 

25. loZizFke nyguh jkbtksfc;e lgthfork dk 

v/;;u fd;k % 

 
25. ................ first studied pulse rhizobium 

symbiosis. 

(A) Jh fgYVuj us  (A) Sri Hiltner   

(B) Jh uksc us  (B)  Sri Nob 

(C) Jh ch- ,u- tks’kh us  (C)  Sri B. N. Joshi 

(D) Jh jtuhdkUr HkkbZ iVsy us  (D)  Sri Rajanikant Bhai Patel 

26. ,d ,dM+ Hkwfe ds Åij gok dk tks vk;ru 

gksrk gS mlesa 
--------------------

 Vu ukbVªkstu gksrh gSA 

 
26. The volume of air above one acre of land 

contains ............... tons nitrogen. 

(A) 50,000  (A) 50,000 

(B)  60,000  (B)  60,000 

(C)  70,000  (C)  70,000 

(D)  80,000  (D)  80,000 
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27. buesa ls ,d vok;qthoh thok.kq gS % 
 

27. Which is one an aerobic bacteria ? 

(A) ,tksVkscSDVj  (A) Azotobactor  

(B) DykWLVªhfM;e  (B)  Clostridium 

(C) ¶;wtsfj;e  (C)  Fusarium 

(D) uksLVkWd  (D)  Nostoc 

28. oehZok’k eas lw{e iks”kd rRo gksrs gSa % 
 

28. Vermivash contains micro-nutrients : 

(A) ftcjsfyd vEy  (A) Gibberellic acid  

(B) lkbVksdkbfuu  (B)  Cytokinin 

(C) yhist  (C)  Leapage 

(D) mi;qZDr lHkh  (D)  All of the above 

29. ,tksyk #czk gS % 
 

29. Azolla rubra is a : 

(A) tSojlk;u  (A) Biochemical  

(B) tSomoZjd  (B)  Biofertilizer 

(C) thok.kq   (C)  Bacteria  

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

30. uhy gfjr ‘kSoky vkerkSj ij fdl Qly eas 

iz;ksx fd;k tkrk gS \ 

 
30. Blue green algae is commonly used in 

.................. . 

(A) /kku dh Qly  (A) Paddy crop 

(B) xsgw¡ dh Qly  (B)  Wheat crop 

(C) xék dh Qly  (C)  Sugarcane crop 

(D) mi;qZDr lHkh  (D)  All of the above 
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31. tSfod mRiknu ds fy, jk”Vªh; dk;ZØe o”kZ  

------------------
 eas ‘kq: fd;k x;k gSA  

 
31. National Programme for Organic 

Production is started in the year ............. .  

(A) 1981  (A) 1981 

(B)  1991  (B)  1991 

(C)  2000  (C)  2000 

(D)  2005  (D)  2005 

32. fuEufyf[kr esa ls dkSu&lk ,d Hkkjh tSfod 

[kkn gS \ 

 
32. Which one the following is a bulky 

organic manure ? 

(A) oehZdEiksLV  (A) Vermicompost 

(B) xkscj dh [kkn  (B)  F. Y. M. 

(C) dEiksLV  (C)  Compost 

(D) mi;qZDr lHkh  (D)  All of the above 

33. ,tksVkscSDVj Qly mRiknu esa 
-------------------

 dh 

o`f) djrs gSaA  

 
33. Azotobacter increase crop yield  

upto .............. . 

(A) 5-10%  (A) 5-10% 

(B)  10-15%  (B)  10-15% 

(C)  15-22%  (C)  15-22% 

(D)  22-30%  (D)  22-30% 
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34. nyguh Qlyksa esa jkbtksfc;e dYpj 
-----------------

xzke@fdyksxzke cht nj ls djrs gSaA  

 
34. In pulse crops rhizobium culture is used 

@ ................ gm/kg seed.  

(A) 5-10  (A) 5-10 

(B)  10-20  (B)  10-20 

(C)  20-25  (C)  20-25 

(D)  25-30  (D)  25-30 

35. vif’k”V inkFkZ ls cus lM+s gq, dkcZfud inkFkZ 

ds <sj dks dgrs gSa % 

 
35. A mass of rotted organic matter made 

from waste material is called : 

(A) dEiksLV  (A) Compost 

(B) xkscj dh [kkn  (B)  FYM 

(C) oehZdEiksLV  (C)  Vermicompost 

(D) iŸkh dh [kkn  (D)  Leaf manure  

36. uhy gfjr ‘kSoky dh iztkfr gS % 
 

36. The species of blue green algae is : 

(A) vukchuk  (A) Anabaena 

(B) ukWLVkWd  (B)  Nostoc 

(C) vksyksfljk  (C)  Aulosira 

(D) mi;qZDr lHkh  (D)  All of the above 
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37. fuEufyf[kr eas ls dkSu gjh iŸkh okyh [kkn  

gS \ 

 
37. Which of the following is a green leaf 

manure ? 

(A) <Sapk  (A) Sesbania aculeata  

(B) djat iŸkh  (B)  Pongamia pinnata leaf 

(C) lubZ  (C)  Sunhemp 

(D) lSath  (D)  Melitotus pariflora  

38. dEiksLV [ksr esa yxkus ds fy, rS;kj gksrh  

gS % 

 
38. Compost is ready for application in the 

field upto ................ . 

(A) 3&4 ekg rd  (A) 3-4 months 

(B) 5&6 ekg rd  (B)  5-6 months 

(C) 8&9 ekg rd  (C)  8-9 months 

(D) 12 ekg ls vf/kd  (D)  > 12 months 

39. dkcZfud [ksrh ds tud gSa % 
 

39. Father of organic farming is : 

(A) QqdSdk  (A) Fukuoka 

(B) dkWbcys  (B)  Koebele 

(C) vYcVZ gkWoMZ  (C)  Albert Howard  

(D) MkW- lh- ,u- vkpk;Z  (D)  Dr. C. N. Acharya 
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40. ew¡xQyh dh [kyh eas ukbVªkstu izfr’kr gksrk  

gS % 

 
40. Nitrogen percentage in groundnut cake  

is : 

(A) 6.5  (A) 6.5 

(B)  7.3  (B)  7.3 

(C)  7.6  (C)  7.6 

(D)  8.3  (D)  8.3 

41. fuEufyf[kr eas ls dkSu&lh v[kk| rsy [kyh  

gS \ 

 
41. Which of the following is a non-edible oil 

cake ? 

(A) vylh dh [kyh  (A) Linseed cake 

(B) ew¡xQyh dh [kyh  (B)  Groundnut cake 

(C) vj.M dh [kyh  (C)  Caster cake 

(D) dqlqe dh [kyh  (D)  Safflower cake  

42. Qly vo’ks”kksa dks tykus ls 
----------------

 rRoksa dk 

kl gksrk gSA 

 
42. Burning of crop residue leads to loss  

of : 

(A) 100% N vkSj 25% P  (A) 100% N and 25% P 

(B) 100% N vkSj 50% P  (B) 100% N and 50% P 

(C) 50% N vkSj 50% P  (C) 50% N and 50% P 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 
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43. m- iz- jkT; tSfod izek.khdj.k la[;k fLFkr  

gS % 

 
43. In U. P., State Organic Certification body 

is located at : 

(A) dkuiqj esa  (A) Kanpur 

(B) y[kuÅ esa  (B)  Lucknow 

(C) xkft;kckn eas  (C)  Gaziabad 

(D) vkxjk esa  (D)  Agra 

44. xktj ?kkl ls izfr ikS/kk izfr o”kZ 
-----------------

 cht 

mRikfnr gksrs gSaA 

 
44. Parthenium hysterophorus produces 

.............. no. of seeds per plant per year. 

(A) 1000-5000  (A) 1000-5000 

(B)  5000-10000  (B)  5000-10000 

(C)  10000-25000  (C)  10000-25000 

(D) 25000 ls vf/kd   (D)  > 25000 

45. ysUVkuk dSejk [kjirokj dk tSfod fu;U=.k 

fd;k tkrk gS % 

 
45. Lantana camara weed is biologically 

controlled by : 

(A) ,xzksekbtk ysUVkuk ds ykjok }kjk  (A) Larvae of Agromyza lantana 

(B) Fksdysfp;ksu ds ykjok }kjk  (B)  Larvae of Theclaechion  

(C) FksDykcstksdkbZ ds ykjok }kjk  (C)  Larvae of Theclabazochi  

(D) mi;qZDr lHkh  (D)  All of the above  
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46. fHkUMh fdldh dhV vkd”kZd Qly gS \ 
 

46. Okra is a trap crop of : 

(A) dikl  (A) Cotton 

(B) VekVj  (B)  Tomato  

(C) xUuk  (C)  Sugarcane 

(D) [khjk  (D)  Cucurbits  

47. IFOAM dh LFkkiuk fdl o”kZ gqbZ \ 
 

47. In which year IFOAM was established ? 

(A) 1970  (A) 1970 

(B)  1972  (B)  1972 

(C)  1975  (C)  1975 

(D)  1982  (D)  1982 

48. vki tSfod [ksrh eas vdkcZfud moZjdksa dk 

mi;ksx dSls djsaxs \ 

 
48. How would you use inorganic fertilizers 

in organic farming ? 

(A) ,d iwjd ?kVd ds :i esa   (A) As a supplementary component 

(B) ,d vuqiwjd ?kVd ds :i esa   (B)  As a complementary component 

(C) fodYi ds :i eas   (C)  As a substitute   

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

49. 
---------------------

 ,d ekbØksfc;y dhVuk’kd gSA 
 

49. .............. is a microbial pesticide. 

(A) cSflyl Fkqfjaftufll  (A) Bacillus thuringiensis 

(B) Vªkbdksxzkek  (B)  Trichograma 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 
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50. oehZ&dEiksLV esa ukbVªkstu] QkWLQksjl rFkk 

iksVk’k dh izfr’kr ek=k fdruh gksrh gS \ 

 
50. What is the percent amount of nitrogen, 

phosphorus and potash in vermicompost ? 

(A) 0.1–0.5% ukbVªkstu] 0.5–0.7% 

QkWLQksjl rFkk 1.0% iksVk’k 

 (A) 0.1–0.5% N, 0.5–0.7% P and  

1.0% K 

(B) 0.4–0.6% ukbVªkstu] 1.0–1.2% 

QkWLQksjl rFkk 1.5% iksVk’k 

 (B) 0.4–0.6% N, 1.0–1.2% P and  

1.5% K 

(C) 0.5–1.0% ukbVªkstu] 0.15–0.56% 

QkWLQksjl rFkk 0.06–0.3% iksVk’k 

 (C) 0.5–1.0% N, 0.15–0.56% P and 

0.06–0.3% K 

(D) 1% ukbVªkstu] 2.5% QkWLQksjl rFkk 

3.5% iksVk’k 

 (D) 1% N, 2.5% P and 3.5% K 

51. dkSu&lk ns’k tSfod [ksrh ds vUrxZr vf/kdre 

{ks=Qy eas gS \ 

 
51. Which country occupies the maximum 

area under organic farming ? 

(A) la;qDr jkT; vesfjdk   (A) USA 

(B) Hkkjr  (B)  India 

(C) vkWLVªsfy;k   (C)  Australia  

(D) bVyh  (D)  Italy 

52. Hkkjr dk dkSu&lk jkT; iw.kZ :i ls tSfod 

jkT; gS \ 

 
52. Which Indian state is the fully organic 

state ? 

(A) vksfM’kk  (A) Odisha 

(B) vklke  (B)  Assam 

(C) >kj[k.M  (C)  Jharkhand 

(D) mŸkjk[k.M  (D)  Uttarkhand  
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53. blesa ls dkSu&lk jlk;uksa dk iz;ksx djds 

cuk;k tkrk gS \ 

 
53. Which of these is made by using 

chemicals ? 

(A) dhVuk’kd  (A) Pesticides  

(B) tSfod [kkn  (B)  Organic manure  

(C) tSfod dEiksLV  (C)  Organic compost 

(D) tSomoZjd  (D)  Biofertilizer 

54. tSfod [kk| dh [ksrh dh ykxr gS % 
 

54. The cultivation cost of organic food is : 

(A) ikjaifjd [ksrh ls de  (A) Less than conventional farming  

(B) ikjaifjd [ksrh ls vf/kd   (B)  More than conventional farming  

(C) cjkcj  (C)  Equal 

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

55. ,tksyk ,d tSomoZjd gS] tks Qly dh mit 

dks 
--------------------

 rd c<+krk gSA 

 
55. Azolla as a biofertilizer, increases the 

crop yield upto ................... . 

(A) 30%  (A) 30% 

(B)  40%  (B)  40% 

(C)  50%  (C)  50% 

(D)  60%  (D)  60% 

56. tSfod [ksrh ds izeq[k fl)kUr gSa % 
 

56. The key principles of organic farming  

are : 

(A) Qly pØ  (A) Crop rotation  

(B) tSfod pØ  (B)  Organic cycle  

(C) fefJr [ksrh  (C)  Mixed farming  

(D) mi;qZDr lHkh  (D)  All of the above  
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57. [ksr esa gjh [kkn dh Qly dks mxkuk rFkk 

mldks mlh [ksr esa gjh voLFkk esa lekfo”V 

djuk dgykrk gS % 

 
57. Growing green manure crops in the field 

and incorporating in its green stage in the 

same field is known as .............. . 

(A) gjh iŸkh [kkn  (A) Green leaf manuring  

(B) bu&lhVw gjh [kkn  (B)  In-situ green manuring  

(C) ,Dl&lhVw gjh [kkn  (C)  Ex-situ green manuring  

(D) mi;qZDr eas ls dksbZ ugha   (D)  None of the above 

58. fuEufyf[kr esa ls dkSu ukbfVªfQds’ku 

vojks/kd gS \ 

 
58. Which of the following is nitrification 

inhibitor ? 

(A) uhe dh [kyh  (A) Neem cake  

(B) dikl dh [kyh  (B)  Cotton seed cake  

(C) ew¡xQyh dh [kyh  (C)  Groundnut cake  

(D) ljlksa dh [kyh  (D)  Mustard cake  

59. tSfod [ksrh dk egRo vkSj ykHk D;k gS \ 
 

59. What is the importance and benefits of 

organic farming ? 

(A) feêh ds LokLF; esa o`f)  (A) Increase the soil health  

(B) i;kZoj.k ds vuqdwy   (B)  Environment friendly  

(C) dksbZ jklk;fud mi;ksx ugha   (C)  No chemical use  

(D) mi;qZDr lHkh  (D)  All of the above  

60. dEiksLV cukus dh cSaxyksj fof/k fdlus nh \ 
 

60. Who gave the Bangalore method of 

making compost ? 

(A) ukjk;u jko ika<jh ikaMs  (A) Narayan Rao Pandhari Pandey  

(B) ,ycVZ gkWoMZ  (B)  Albert Howard  

(C) lh- ,u- vkpk;Z  (C)  C. N. Acharya 

(D) fjpMZ  (D)  Richard 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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